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Crybd : 3 wenfl | [ Qurgs wHuCuemrger : 150
Time Allowed : 3 Hours ] [ Maximum Marks : 150
gleyemy : (1) Swarsg clarssErhd sflurs uSeurdl o eTersT 6T 6TLSEm 6T

sfluriggs Qarearara|bd. ssludele Gammpuilmulber s
samasrasfliurerflb o Langwirss Gsflelssalb.
2) Beb ez sl ewudleer L HGWL er(guIsHE L LWeaTUHSS
Cauar(Hd. UL hi&GeT euenyeusn@ Guemdled Liwiemi(hiGse]L.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.
(2) Use Black or Blue ink to write and pencil to draw diagrams.

UGS - 1/ PART - 1
(wSlLCuerser/Marks : 50)
GO : Semensgl aTasEnsEE el wallésalib.
Note : Answer all questions.
9fley - = / SECTION - A
(LHLCueTs6T/Marks : 15)

I. Casmgli @iz Blyliys : 15x1=15
Fill in the blanks :
1. Hlmndeon Qeasmss sribs Bbss g 2 udflernd 24 (&LD.
The organism that swims and belongs to the species of whales is
2. wsHu yHwrelelmbg QeualGubl BréELTg s6r LOHMILD
Braflasams ool eSS
The nomads who moved out of Central Asia transformed the and
civilisations.
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10.

11.

12

el @ GGasTUm_enL eremiieum Gleuefudll_ L.
The proponent of the central place theory is

BriBlyné Guuilplide wsdu oibsnrss sremiL@eus)
G LD.

The important feature of a rural settlement is known as

@@ Brliger pHrewrws wHUL SBBTger QuTmsg
Siendlenmg).
The value of a country’s currency depends on its

euanidél @enhlu prHseT euanlissdlarn ppald GpmbEEs satarliLI(heuans
randlCmmib.

The process of trade by which the less developed countries are pushed to poverty

is known as

Bam_ QsrevwasE eoparar Crrsdod Lweamd Qs
vwerLH&mgl.

is useful for travelling long distances in short while.

a6 LoHmILD Qaanpg B 2 HCuGHSSS!.

The water is formed with the combination of hydrogen and

LreaelaoTgaler GLr&ans S TRVTLY. 3 [T [
Desertification trends are evaluated by means of

dgree miamgmanie grsasdear GCuensaild Qurmssul L
__ wHmib _ & (68 &6 umaﬂuﬁ]@ﬂ@ﬁ'@ QeueflCuwm b

Qeutiu s&dlepw ey QeiwuBEemman.

The terrestrial energy is recorded by and platforms in

remote sensing.

2 wsareiler Bflenr Coamen siflefNss Qsream® euy aryaummissr
pgw @b

Global demand for water is increasing primarily due to _ and

Carlur® dsrfleos emweil Cariur@ ey@ib.
theory explains the location of industry.
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14.

15.
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sHGurg 2 wdled wsser Cgransuier @reamLmb G b udlsEn BT

The second most populous country in the world today is

NDVI Greh'rugj
NDVI is based on

Lyemerl aleurib
data.

s yelprer QaramLm il L srH
First Earth day was celebrated in

Epaumaiaalpenll QUGS :

16.
17.
18.
19.
20.

19fley - =y / SECTION - B
(S LQuenTseT/Marks : 15)

3
2L
sHMWEHE FTDLIE
&(THLD FF&HSET '
LOCHTEE 6ueTDd
&sET QHTens euaTiEsl

Match the following :

16.
17.
18.
19.
20.

Spaumeuameunenll CUMHSSIs :

21.
22,
23.
24.
25,

A
Ambur
Radioactive ash
Black flies
Multipurpose resource
Population growth

A
@ruer CursEGeurss
EL il 3on
2 emey CewnanssGarer
SIrlwed hmend
2 @& CereTeno

Match the following :

21.
23]
23.
24,
25.

A
Railway traffic
Computers
Spy satellite
Political unity
Global management

(<=1) @b upPTEEGmD

(<) GCamed ugaflhbn Gamdnerae

(8) =iem 2 s
(r) 2OpsSEHE
(2) olenemTsEer

B
(a) Drinking water scarcity
(b) Tanning Industry
(¢) Nuclear reactors
(d) River blindness
() Dams

b
(<21) @FaLLrLS
(<) @avCred
(8) sLay GoLa) il
(FF) L& eULIBSLD

(2.) euewflasd gal_Lenwiiyser

B
(a) Printing revolution
(b) Israel
(c) Sea tunnel-ways
(d) Dunkel agreement
(e) Trade blocs

5x1=5

5x1=5

[ lmlys / Turn over
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(i) EpeupeuaTalhenDL QuUT(HSSIS : 5x1=5

3 b

26. 25 (1p56 50 FHEISLD (1) sL@uur_pp i efliy

27. 67 prpser (<) Yol LBER

28. 1988 (@) HCwmrLr LGyrGLrGamed

29. apenanmar Gsmallug priser () paTLDSHD Bisaslel

30. s@ILT (2.) <iap Lrflu m

Match the following :
A B

26. 25 to 50 percent (a) Unlimited supply of water

27. 67 countries (b) Earth share

28. 1988 (c) Kyoto protocol

29. Former Soviet Union (d) Leakage of water in urban areas

30. Canada () Amu Darya River

9fey - § /SECTION -C
(& QueTseT/Marks : 10)

L sfwrer elan_semerd CaTHEISE : 10x1=
Choose the correct answers . :

31. sLeigl uride o eTem HTEUT GLP eumLAlLLD :

(1) QermiL_eor (=) OB&LTen
(@) QubsTev (FF) (PHDESET
The plant biomes that are found beneath the seas are :

(a) Plankton (b) Necton

(c) Benthos (d) Corals

32. euard prHsefie wails Hpemear P®LWTS Qeuels Qamenry
UM ETanD&®E STFELD
(1) waser QgTans GH®DeY
() eueTraisaflar LDDTSEEG®D
(@) @iquumLd Qeaneusaflen LIDDTEEGMD
(FF) Esaten &6 2 eniplilenento
The reason why the developing countries are unable to exploit their entire working
potential is :

(a) small population numbers (b) lack of resources
(c) lack of essential services (d) absence of hard work
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33.

34.

35.

36.

a7:
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Sy WwaseT FETULDRISEaT® Gl CumeusnE ST :

(=1) Coumansars (<=24) CummeT eurmis

(@) Csallsmsssrs (FF) <L IDUT GUTLDEMSSSTS
Rural population is migrating to urban areas for :

(a) jobs (b) purchasing things

(¢) recreation (d) luxurious life

Qarfles emweill & Carur@ :

(1) Qeuur Camum( (<=1) ddlevLrer Carium()
(@) eurangnenen Camum( () wrogen Cariumr®
Theory that explains the location of industry is :

(a) Weber’s theory (b) Christaller theory

(c) Von Thunen theory (d) Malthus theory

2 & pripsaflanCu per GQumid euanflsd :

(31) 2errs cuanflaiDd (<=4,) LeeT () GuanflaDd
(@) werrLwrHn euamflsd () 2emBrl () euanflen
The trade between the countries of the world is :

(a) Rural trade (b) International trade
(c) Barter trade (d) Internal trade

Gsflw euer CaTETNLESTE QB DTFTRIGD eSS G\g,rr@@
(<21) ereur.cre.<gyf.6rib.crav. (NNRMS)

(=1,) . T.6rav.6Te.&. (RRSSC)

(@) eremm.<y.g9.676. (NRIS)

() .g.erab. (DOS)

Which of the following system has been set by the Indian Government for the
management of natural resources ?

(a) NNRMS (b) RRSSC () NRIS (d) DOS
aHfl @rrapreukiseaien BLOT LD LHYD AEssES Hleneow risaf e
Sl _msmars sarLNbg sseue QasTRaEEh QFunmes Garer :
(=21) auer QewnemssGamer

(<) 2 amey Cewnanss Carer

(@) yel flewars QewmnanssCsmer

(F) GAwCeamh @s5HmaEn QswnamesGamer

In collecting information regarding the movement of army troops and location of
atomic power stations satellites are used called :

(a) Resource satellites : (b) Spy satellites
(c) Geo stationary satellites (d) Sun-synchronous satellites

[ Hplins / Turn over
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38. oCGuwsrer wHYID STRCET MET UMD WaRTL b {
(1) BlgCleuliu wewrL_evib (=) Sl(HEU LDEBTL_eVLD
(@) yeilulen _&Cari () wemrLevlbd (FF) 2 USWeT WeRTL_LDd
The region where the Amazon and the Congo rivers traverse is :
(a) Temperate region (b) Polar region
(c) Equatorial region (d) Subtropical region
39. eleusTwgSnE LwaTLBSSLILOL Blamear HAssanorsL LweU (HS&Ib
BIL LI :
(<=1) eman CrrGurefigen
(=) sreflumign Briursend
(8) Quilw eerefleorer Birliursed
(FF) Adlw syemelleoren BiliLrsend
The technique that reduces the amount of water applied to crops is :
(a) Hydroponics (b) Automated irrigation
() Macro-irrigation (d) Micro-irrigation
40. 2 odlar UL &S euerid :
(=) B (=) Gflwer () QuLGrrallwid (/) srHm
The valuable source of world is :
(a) water (b) sun (c) petroleum (d) air
Yifley - = / SECTION - D
(pSLiGLeTSeT/Marks : 10)
sflwrer aursflwgens CombOs® 10x1=10

Choose the correct statement :

(1) ppenGlanm(h sragded 1700 YaMTHSERESE @ P @ ig Hurd

41.

W&&6T GgTens SHEALTIRE 20 aumLhsaiCatu @iy liurdpg).

(=) pentlanm(m sragsld 2000 @ RsEsEE @ Wwen @I g Ourdw

éseT Cgrens sHEALITE 30" eumpLasalCatu @rlliurdpg.

(8) wpenGlenm( sragded 1700 @O HERES @ WPen QT g LTy

(@)
(b)
(©)

wéser Ggrens sHGLTE 30 aupLbiseliCatu @iy liurdng.
Population which had been doubled once in ‘1700’ years in the past is
doubled in ‘20’ years at present.

Population which had been doubled once in ‘2000" years in the past had
been doubled in ‘30" years at present.

Population which had been doubled once in ‘1700’ years in the past is
doubled in ‘30" years at present.



42,

43.

44,

45.
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(=) GuiGLLE spamgser PasGaream aulg aUEnOLIL| QETERTL_ena.
(<) GigiBLLE FHSHET Qeduaus algeieolil] ClSTeTLanel.
(@) EyullmuLE shengser imGaTan aulg auemLoLiL] QEmeiT_ene.
(a) Market areas of the central places are triangle.

(b) Market areas of the central places are rectangle.

() Market areas of the central places are hexagonal.

(<) (@5 BT lq.60T [bT6HT AL BB g6 66w &E gwfleeemw
QurmECs ieSleng).

(=) @@ Brilgen praww S SBBTLgan 2 amprl @ auafllssons
QurmsCs eE D).

(@) @@ BrLigen BHiTewrul &y vl auailssms QurmsCs
SimE DG

(@) The value of the currency of a country depends on its trade balance.

(b) The value of the currency of a country depends on its Internal trade.

() The value of the currency of a country depends on its International trade.

(1) Gaibev pHasaruie) Sieinpgierer B&TD GLeved.
(<) Caided pH&smTUID SiEPObEIETEn B&TD umflav.
(8) Csidev pH&smTUIGD SiELObgIETET BSITLD GOGHTL 6.
(@) The city along the Thames river is Delhi.

(b) The city along the Thames river is Paris.
(c) The city along the Thames river is London.

(=) cwdé Qshbgs efwray CUTEGUTSS Qwhssreier emev
Fe@Elan HaTSHNHHE BlULLITTE eUeD penLQUDIES.

(<) 2 o0dled Qadbs edlorear CursGaurss Quwissreile HluLurTs
B&T&51e0l(HHS)! sOCUTTauT cuewy L QUNIEIDS.

(@) ewdle Qedlps ellmer CuITEGTES @aTLem B&TSHBHSI
Al e aueny B GUMEDS!.

(@) The busiest air route in the world is in between Los Angeles and New York.

(b) The busiest air route in the world is in between New York and California.

(c) The busiest air route in the world is in between London and Sydney.

[ SigpLirys / Turn over
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46.

47.

48.

49.

8

(1) GCrAgEEL SiTdgamgameilpEd QoL uid eflamtsr b GDES
QUTHLD 2 GTerg).

(=) 9CrausEn SifQgargameldEnd G uid eor QerrLm B
GO&S GUTSHLD 2 GTETg).

(@) 9CrAsED SifQgangamalbe@nd G uied Blalledld pél Ghlse
QUTHLD 2 GITETF).

(a) The river in dispute between Brazil and Argentina is Orinoco.

(b) The river in dispute between Brazil and Argentina is La Plata.

(c) The river in dispute between Brazil and Argentina is Mississippi.

(=) 68w presaiear wrpr@ 2002 -@d CoraGarevuimssla
el Quippgern Crrésd Guwearturmer Gubur.

(=) pé&du prosaiear wrETH 2002 -Gle CgraGarevuiséle
peoLQuippser Crrésd sepgmu Gbur(.

(@) m&du preseafear wrEr@G 2002 Ge CarasGarevuimééla
oL Qubpsear Crrésin Cuars s&bs Gubur®.

(a) Johannesburg 2002 United Nations Conference was on softwar

development.

(b) Johannesburg ‘2002" United Nations Conference was on communit
development.

(c) Johannesburg ‘2002" United Nations Conference was on sustainabl
development.

() auariEflueL b3 Bresdr epal QurpLsamer ghmiod Caldame
(<2p) euerHld FrESET ppels QUL smeT FHmLoS Qeiglemenr.

(@) =QwAss psdu BrHs6r epeLitLTBLsemaT ghmwd Qaudleame
(a) Developed countries export raw materials.

(b) Developing countries export raw materials.
(c) US.A. exports raw materials.

(1) edlan 68 auerd shSre

(<) e edlen g6 euemd @ flwie

(@) edlar #58 cuerd shHSlFmwien

(@) The source of world’s energy is moon.

(b) The source of world’s energy is sun.
(c) The source of world’s energy is Chandrayan.
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B50. (21) &Sporen B &S SjmaTalhE@GD Sl &G0 Br(H @b

(=) sdsran B DEEET METEUHEGD HL &G0 BrH @L T

(8) adswran Bif W&EHET LmeTaUBHSGL Sl &@Gb HTH wered.

(@) The country which has achieved potable water supply for all her people is
Niger.

(b) The country which has achieved potable water supply for all her people is
Sudan.

(c) The country which has achieved potable water supply for all her people is
Malawi.

U@S-11/ PART - II
(oS LQuenTaer/Marks : 30)
G&OIUY : s@pésnrs gCsayb 15 elamss@pse W Hn eleLwaf. 15x2=30
Note : Answer any fifteen of the following questions briefly. '
51. emweil & Casriur® - euamywum.
Define Locational theory.
52. gseucsailen GalgliL] - uanrum.
Define Information Explosion.
53. @ eumLmiser - allerdEs.
Explain biomes.
54. Glgemm ‘400" o ar(higaiier w&saT QgTans euertdfwamw WP EW Srrewrd
WImgi?
What caused the unprecedented growth in population in the last ‘400" years ?
55. SeLD 6TeaIMITey GTevren?
What is site ?
56. erevL. @& sFFTl QUTHETSET - elaTsHEs.
Explain weight-losing raw materials.
57. euewils @O GTETMITE GT6uTEn?
What is Trade bloc ?
58. CUTEEGEITSE UM GTETMTE) GTEITE?

What is Transport Net work.

[ Hpliys / Turn over
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59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

10

Qsrene maTamianTey GanL eramTed ereen ? 6llenéEs.
What is Remote Sensing Platform ? Explain.

GNuemens sribgs QewupanssCarear erampre crener ? lersEs.
What is sun synchronous satellite ? Explain.

Hlog Ergemea] - euenrwm.
Define land-slide.

QBsLren - Hm GHIUL euemrs.

Write note on nectons.

whaTLsHe s QsTas aarTiflows sl HUUESHL QubDmss
SENL_GET Wreneu?
What were the natural checks of population in earlier times ?

anflar @gliueoL e wealsu uafiigdnmer assmar WflajsarTsl
9flGsemd ? 2jeneu Wrenel ?

How many divisions of working potential are there on the basis of age ? What
are they ?

epaTnTd Hlenes QFTfleseT wremeu?
What are tertiary industries ?

LoCaim samilanls samapamDET Wreneu?
What are the various generations of computers ?

weriphit simeuen. uHH Bellt dlbgeneu eresmen?
What do you understand by rain water harvesting ?

aueTihE eumbd prpseafle penatt sriurear @ream®h SEsos6r wramal ?
What are the two important crises of fresh water in developing countries ?

LITENEGUEITLDTSE) GileTé@s.
What is Desertification ? Explain.

e 2 ulfler urgisTiy undl edleTéEs.
What is conservation of wildlife ? Explain.
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U@&3) - 111 / PART - III
(L LQLaETSeT/Marks - 30)

Goliy : ()  gCsemb S NeEEERESE WL Hib eSlen_waf. 6x5=30

() geibleurm elarmmedmaio 200 aurTgengaafles efenL wief.

Note : ()  Answer any six of the following questions.

71.

72.

73.

74.

75.

76.

77,

78.

79.

(i) Answer each question in about 200 words.

SIS LTLOF @G eumflL b b eflerg @ s.
Explain tropical biome.

W @ sCarlur’ el eleufl.
What is Central Place Theory ? Explain.

Brengmd Blevag Qsrfaser afeuf.

Explain Quaternary industries.

QUG &HF gwblene efleul.

Explain trade balance.

876@ CULLSD eremmed eremean? efleuf.

What is container ? Explain.

208 &56T ClgTans cueriéfenws LnBl efeu
Describe the growth of world population.

auellas gnl L epiolilsaler LT WITeneu?
What are the benefits of trade blocs ?

Codlu auer gaauc Qsm@duden Clewdurser wreneu?

What are the activities of the National Resource Information System ?

e dler fllern grib Gepws arrarTiisa Wrana?

What are the causes for the declining quality of water ?

[ SlBLUYyS / Turn over
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L&S-1IV / PART - IV
(oSl LGueTgeT/Marks : 30)
Wifley - oy / SECTION - A

VIL @iy : () 400 aurigemgsaie elfleurs ellenwerfl, 3x10=30
() Y9fe ‘o e gCsaEID epem NlaTESEHEE, LL(HLD
eflenL_wiefl.
Note : (i) Answer each question in detail in 400 words.

(i) Answer any three of the following questions.

80. arGarmd euwgl Gra@H upHuybd, Gerar@rub awgl Wrsl@H
upMlyd edlersE:s.

Discuss the progressive, regressive age structures.

81. Qsrfes SmweilLé srraisar erenal - efleufl.
Explain the factors of industrial location.

82. Qupewss Eifgmea), CQeadrarliQuUmEE gHuBLEUTE BT @T@J@Jrrgj
aHiCrrés CeuamrHib?
How should we be prepared for facing a natural disaster like flood ?

83. B urgisTlL HILUBISET ,TTUbHS @S]a.uﬂa;a;mm
Discuss the water conservation technique.

84. @nHurelen euplfl WHYD LITMmEATONSH LUHD 6T(HEIS.
Write an essay on the desertification and droughts in India.

9fley - &y / SECTION - B
(LHUGueseT/Marks : 10)
VIIL gildy :  Gemeumd eflemmedlng eSlenLwafl. 1x10=10
Note : Answer the following question.
85. (=) Qsr@ésuulaer 2085 auMmTULSHD LT el alkisamer
GhEsa|b. uTmoaiars GN aurfl rismer eflers@s.
360605
(<) e ovdlen Hophés IGHad 2 as aumruL g Ghlss alas@s.
(a) Mark the deserts in the world map and describe briefly.

OR
(b) Label the major earthquake location in the world map and explain.

-00o0-






